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1 |dbiEE 2.0E+4 19,919.0
2 | EHE 2.4E+3 24355
3 |AFR 2.3E+3 2,312.7
4 |EEER 4.2E+3 4163.4
5 [FEE 1.3E+3 1,280.1
6 (LB 2.3E+3 2,329.0
7 |RER 3.2E+3 3,175.2
8 |ZWE 4.5E+3 45485
9 |HHKE 1.8E+3 1,827.1
10 [BEER 41E+3 4,050.1
11 [BEE 7.1E+3 7,099.8
12 |FER 3.7E+3 3,735.0
13 |EREAD
IR EEIN 1.0E+1 10.0
15 |FiaE 5.2E+3 5,222.0
16 |EIE 1.8E+3 1,847.0
17 |BINE 1.5E+3 1,451.0
18 |f@HE 3.6E+3 3,553.4
19 [LWBYIE 3.9E+2 390.0
20 |[EHER 2.1E+3 2,127.6
21 [IFRR 3.3E+3 3,332.2
22 |ERRR 9.2E+2 924.0
23 |EHME 2.3E+3 2,283.2
24 |=ZER 1.6E+3 1,556.6
25 [#ER 1.8E+3 1,756.2
26 |HHRRT 9.3E+2 9320
27 | KERFF 6.5E+2 650.0
28 |EER 1.4E+3 1,357.6
29 |ZRE 5.1E+2 510.0
30 |[FnERLE 7.3E+2 730.0
31 [EEWE 1.2E+3 1,216.0
32 |BRE 7.8E+2 780.0
33 |EWE 2.1E+3 2,136.0
34 [LBR 1.7E+3 1,730.0
35 [lWOg 4.4E+2 4400
36 [EER 7.4E+2 7433
37 |BIE 2.7E+3 2,684.0
38 |[BER 3.0E+1 30.0
39 |[EHIR 1.0E+3 1,003.0
40 [ERR 3.7E+3 3,678.5
M |[EER 3.4E+2 3440
42 |RIGER 2.2E+3 2,190.0
43 |REXRE 6.4E+3 6,378.3
44 | KpE 1.4E+3 1,368.0
45 [EiER 3.7E+3 3,676.3
46 |[ERER 2.6E+3 2,580.0
47 |HER 8.2E+1 82.0
ESE 1.2E+5 116,567.6
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